
Woody's parents must have been passing for white in preintegration Park Manor. The fact that some of his relatives were passing made Woody's racial identity claims more urgent for him, but less compelling to others. He desperately wanted to be black, but his peers in the neighborhood would not let him. Because he had the option to be white an option he radically rejected at the time those without the option could not accept his claim to a shared racial experience. Woody was denied his own identity simply because he was too light to be black. Over the years after defending himself he simply let it go, and never stated that he was a “brother” too.


That is what is wrong with the culture of America. There is no in between always one or the other. He could have passed for white but didn’t want to because that wasn’t his full self. He simply wanted to be accepted by people of his own kind but wasn’t allowed simply because he was to light. The blame should be placed on both sides of any race of a biracial person. They shouldn’t expect someone to choose one over the other it is not fair. I think they feel threatened because they know the advantages biracial people have over them so they try to take that away.
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